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QUESTION 1

An administrator has an absent capacity disk.

Which action, if any, should the administrator take to resolve the problem?
A. Wait, and vSAN will rebuild it.

B. Replace the faulty disk.

C. Replace the faulty host.

D. Verify the host is not isolated.

Correct Answer: A

QUESTION 2

During a design workshop for a stretched vSAN cluster, the requirement that some of the VMs be configured with no-
mirror between sites was discussed.

Which three recommendations should the architect provide to address an event of a network partition between two
sites? (Choose three.)

A. Host isolation response must exclude the VMs required

B. The default gateway must be used as the only isolation address

C. One of isolation addresses should reside in the site 1 data center

D. VMware vSphere DRS rules to force the VMs to run where the data resides
E. One isolation address reachable only from the witness appliance in both sites
F. One of isolation addresses should reside in the site 2 data center

Correct Answer:. ADF

QUESTION 3

A company has engaged a consultant to upgrade an existing vSAN cluster to vSAN 7.0 U1.

During the discovery phase, the consultant found the following information about the existing environment:
The VMware vCenter Server has recently been upgraded from VMware vSphere 6.7 U3 to version 7.0 U1.

The vSAN Cluster was recently expanded with identical hardware specification, but from a different hardware vendor.
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The hardware for each vSAN node is listed on the vSAN Compatibility Guide (VCG) for vSAN 7.
The vSAN Cluster has the following configuration:
-vSAN version: 6.6.1

-Number of vSAN nodes: 10

-Encryption: enabled

-Deduplication and Compression: enabled
-vSAN Capacity Utilization: 60%

Each vSAN node has the following configuration:
-VMware vSphere ESXi version: 6.5 Update 3
-CPU: 2 processors, 20 cores

-RAM: 768GB RAM.

-Disk: 2 Cache SSDs and 6 Capacity SSDs
-Network: 4 x 10GbE

Which three recommendations should the consultant make to ensure all data remains protected in the event of a vSAN
failure? (Choose three.)

A. The Full data migration maintenance mode option must be chosen to protect the data during the upgrade.

B. The Ensure accessibility, migration maintenance mode option must be chosen to protect the data during the
upgrade.

C. The upgrade process should be completed using host upgrade baselines in VMware vSphere Lifecycle Manager
(VLCM).

D. The vSAN nodes should be upgraded to vSphere ESXi 7.0 U1.
E. The upgrade process should be completed using images in VMware vSphere Lifecycle Manager (vVLCM).
F. The vSAN nodes should be upgraded to vSphere ESXi 6.7 U3.

Correct Answer: BDE

QUESTION 4

An architect is tasked to design a VMware Horizon Solution with vSAN. The architect needs to use a solution to host the
user\\'s profile shares in a highly available manner, and it must be guest OS independent.

Which solution will match these requirements?

A. Cluster out of the box
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B. Cluster in a box
C. NFS on vSAN
D. iSCSI on vSAN

Correct Answer: D

QUESTION 5

A customer has upgraded to vVSAN 7, but there is still an existing legacy host which must be removed from the vSAN
cluster.

Which three steps must an administrator take to successfully remove this host from the vSAN cluster? (Choose three.)
A. Place the host in maintenance mode with Ensure Accessibility

B. Disconnect from vCenter Server

C. Place the host in maintenance mode with Full Data migration

D. Place the host in maintenance mode with no data migration

E. Remove from vSAN cluster

F. Delete the disk group(s) on the legacy host

Correct Answer: CEF

Reference: http://www.vexpertconsultancy.com/2019/06/step-by-step-remove-a-node-permanently-from-avsan-cluster/
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